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Tutorial 1

1. The means of two large samples of 1000 and 2000 members are 67.5 inches and 68.0
inches respectively. Can the samples be regarded as drawn from the same population of
standard deviation 2.5 inches?

2. A sample of 900 members has a mean 3.4 cm and standard deviation 2.61 cm. Is the
sample from a large population of mean 3.25 cm and standard deviation of 2.61 cm?

3. The means of two large samples of 1000 and 2000 members are 67.5 inches and 68.0
inches respectively. Can the samples be regarded as drawn from the same population of
standard deviation 2.5 inches?

4. Given a sample mean of 83, a sample standard deviation of 12.5 and a sample size of 22,
test the hypothesis that the value of the population mean is 70 against the alternative that
it is more than 70.

5. A random sample of 10 boys had the following 1.Q’s:70, 120, 110, 101, 88, 83, 95, 98, 107,
and 100. Test the population mean 1.Q may be 100.
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